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ln (GDP)t =  b0   +  b1 ln (G/POP)t +  et                      
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+&�#��#1���,)#�*���� � "��������)�����+���� �  t ��)#��$F����*��*���%9�$F�#������ +:� �E��H�
)��+���� �  t �%9�0��� �+&�#�$F��� � +���� �  Durbin – Watson statistic #%+���9E�#��    ����$F��������%9
����#��
)�����������������, (������� I  ��%
�!� ��,,2547) �����2���������E����#0
�%9�&
�&#
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 unit root H
�������2��L�E�#�����
��&�& �% 
cointegration ��� Engel and Granger �1:9������+&�#��#1���,�� ���
�;�1������& *
�& �% Error 
Correction Mechanism (ECM) �1:9������
��������$��
��&��������2�  
 
3.2.1 �������� unit root 

�������
 unit root ��2���#�������
)��"������������
 ADF test �1:9�����

+&�#� 9�������#0
��������� ��%9�E�#������ )������#������)$�%2 

 
�Xt  =  �1  +  �1t  + �1Xt-1  +  

�    ci � Xt-1  +  �1t                (3.1) 
 

"���%9 X t      +:�    �����&�����������������
�
����������������+� (G/POP)t     
   +:�    	
 �;��<,#&
�&#;����$������%9*���� � (GDP)t          
 �1 , �1   , �1  , c +:�   +��1���# ����,  

�1t    +:�   +��+&�#+
���+
:9���� ����# 
t  +:� +��*�&"��# 
 

�##� ����%9������������
 +:� 
   H0  :  �1  =  0    (non-stationary) 
   H1  :  �1  <  0    (stationary) 
 

�����#��
 H0 H#��+&�#&�� ���#0
��������� ��%9�E�#������#% unit root *���&�� ���#0
#%

�����)#�� 9� (non-stationary) *�������#��
 H1 H#��+&�#&�� ���#0
��������� ��%9�E�#������)#�
#% unit root *���&�� ���#0
#%
������ 9� (stationary) 
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3.2.2 �������� cointegration 
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 cointegration test     �$F��������
+&�#��#1���,��������&��������&�
����������������
�
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 1.����
��&*$���*

�E�
��&��#%
������$F� non-stationary H�:�)#� "�����& �% ADF 
test "��)#��������+��+��%9*
�*�&"��#����&
�      
 2.���$��#���#����������&�& �%�E�
����������%9��� (ordinary least square : OLS) 
 3.�E���&��%9�H
:� (residual) �%9$��#��)������#��� #�����
&��#%
������ 9�H�:�)#� -�9�
�$F��������
��&��%9�H
:� (residual) ������)$�%2 
 

 �êt = �êt-1  +  � ci � êt - i   +   �t               (3.2) 
  

"���%9 êt  ,  êt-1  +:�   +�� residual � �&
� t *
� t -1 �%9�E�#�H��#���������H#�  
 �     +:�    +��1���# ����,       
 �t    +:�    ���#0
�����#�&
������&*$����# 
 
�##� ����%9������������
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  H0  :  �  =  0    (non-stationary) 
H1  :  �  <  0      (stationary) 
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3.2.3 �������� Error Correction Mechanism  (ECM) 
 �#:9��E��������
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�%9�E����������$F����#0
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��%9#%
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�� Error Correction 
Mechanism (ECM) +:� �
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 �;��<,#&
�&#;����$������%9*���� �����#������)$�%2 
 
� ln (GDP) t  =  �1 + �1êt-1   +  �  Øi � ln (GDP)t - i  +  � 	j � ln (G/POP)t - j  +  �1t           (3.3) 
 
"���%9  �1  +:�   +��+&�#��L&�����$��
��&�����0���
�;�1��������& 

	j  +:�   +��+&�#�:�H������������2� 
êt-1    +:�   1��,��� error term 
�1t  +:�   +��+&�#+
���+
:9�������&*$����# 
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  H0   :  �1  =  0   ()#�#%+&�#��#1���,�����������2�) 
H1   :  �1  <  0   (#%+&�#��#1���,�����������2�) 
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